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Mathematics (9th, Gujranwala| Group - |
' Board, 2015 "

Subjective | Marks =63 |

e ——

Time:
2.45 hours

Note: Section | is compulsory Attempt any
three questions from Section Il and

question no. 9 is comiulsory.

E Write short answers to any Six

questions : LR (2x6=12)
E Defin rectangular matix vith an example.
fr ot
- 0 7
- B= henﬂnd BB
. S 308
: m Define terminating decimal fraction with an
; example. .-
m Solve the equation (3+ 4|) 2( yl) Xty
forrealxandy.
flog 2 = 0.3010, then find log 32.
ind the value of x if log x = 0.1821.
[ Evaluate
X'y’-5z

forx=4y=2and z=-1
W QWY |

Fattorize X' -y =X +.
Factorize 1+ 2ab - a° - b’ .
Write short “answers to any Six

questions: o (2x6=12)
B Find L.CM of - 25x+100x - 20 by
~factorization.
m Solve the EQJathll
3)("‘5 \.l l |

Solve: [2x +5=11.
Define collinear pomts.

Find the value of mand ¢ of the line 2x -y
= [ expressing itin the form of y =mx + ¢
m Find the distance between the poits.
 AMB1),86,1) I
m Find the mid-point of the line segment
joining pair of points. A(-8, 1), B(, 1)

ln triangle ABC., find value of x.
A

.80 o
x II' :

vV
ﬂMDelinesquare. S
o Write short answers to any Six
questions : - (2x6=12)

ﬂ In figure, CD is rlghl bisector of the lin
- segment AB. If mAB = 6 ¢m, then flnd'
mAL and mLB.

I\ 3cm and 4 cm are Ion-oths of two sides of
~anght angle triangle, then what should be
the length of hypotenuse of the triangle?

E Define congruent triangles.

In the given rlangle ABC DEllBC l mAD

= 2.4cm, mAE = 32cm mEC 480m
llnd AB |

ﬂ Ven ha triangle  having following
measures of sides is right angled. a = Qcm
p=12cm; ¢c=15¢m '

[0 The three sides of a triangle are 8, x and 17

respectively. For what value of x wil it

become a base of right angled triangle?

1 Define area of a figure.

Plconsiruct 2 riangle ABC in which mAB -
3.ocm mZA=75" m/B =45
m Define circum-centre.

(Each question = ] marks and each part = 4
marks) .
ﬂ a) Solve t the followmg system o linear
equations using Cramer's rule.
X-2y=1, -2x+3y=2
(b) Simplify -

| iy f an \ aZm\( aZn
ALY J(amm "
6 (a) Flnd value of 8

(438) \0056
(388
() If 3x+4y 11 and xy = 12, then find the
. value of 27x° +o4y R
# (a) The expression ax’ - 9x + bx + 3a is
~ exactly divisible by X - 5x + 6. Find h
valuesofaandb.
(b) For what value of k | S (X + 4) the H.C.F of X"
| (2k+2)and2x tkx-12 7
1 (a) Solve ihe equation and check
o Wx-3-T=0. ,
(b) Construct a - triangle and draw the
perpendicular bisectors of its ‘sides, when

‘mAB = 5.3cm, m/A = 45°, mZB =30

H Prove that the right bisectors of the sides of
~atriangle are concurrent. '
| OR .
~ Prove that the triangles on the same base
and of the same (the equal) altitudes are
equal In area.

by uslng logarithm.




